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25 54 214 s tofldl G 33 w2 Rsey wie K2, AC +kR~2 2020
CcthRa2 Who

(A) 470 (B) 570
4_'2__C, =z f SO
(©) 610 (D) 650 C= 260

' . > -
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(A) 22 sdls (B) 24 sdis
(C) 26 sdis (D) 28 5415
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iR R sl dedl uuy @l ?
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() L7 (D) K7
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035, eflétett apani s (eaadug e 9

‘e A A2l detat ol

(A)  wloru B) A
(€)  “aemae (D) e
036, Which letter in the following words is missing?
arobic, mastro, anamic, arial
(A) a B e
(C) i (D), 0
037. Identify correct voice transformation of the following sentence.
I am reprimanded everyday.
(A)._-'I am reprimanding everyday.
(B) I am reprimanded by him everyday.
(C) The teacher reprimanded me everyday.
(D) The teacher seprimands me everyday.
038. Rearrange the jumbled words to form 2 meaningful sentence.
Quit India/demanding / an end/British/ movement/Gandhijirule /to/launched
(A) > Gandhiji demanding Quit India to end an end Bntish rule launched movement.
(B) Gandhiji launched Quit India movement demanding an end to British rule.
(C) Gandhiji launched Quit India movement to demanding an end British rule.
(D) British rule launched Quit India movement demanding Gandhiji to an end.
039. Amitabh Bachchan is actors.
(A) One of the most loved (B) Some of the most loved
(C).- One of most loved (D) Most loyad
) India against Pakistan at Ahmedabad inOctober the next world cup.
Xl) istoplay
~(21  is going to play |
~(37" will play ‘
(4). < will be play %
Which option from above will not form a meaningful sentence? 1
(A) (Dand(2) ) (B) (3)and (4)
(C) Only(4) (D), All
penicl 171
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Note : In case of interpretation of language, English version is
considered to be final.

041. Obtuse angle isangle | 041, 9'{1"?3"1 “o1d 224 24l ‘{1'5:{!?
(A) Less than 90° (A) 90° | A1l
(B) 90 (B) 90°

(S anio 90" woa 150 (C) 90° A4 180° ) 4%ite

(D) 180~
(D) 180°

042. Condition for Rhombus parallelogram | 042, s iz asin ABCH 4+l
ABCD s (241(nt 5.

(A) Al four sides are equal and parallel (A) At A 54 Asdlas O
oxplhdgles e sopu A) uj.t AYAL 2 .'»M “niAL %
| | Ao AU WAL AYLoA %

(B) Only opposite sides are equal and {
parallel but all angles are equal (B) M4 ['4.';'/_ AYAL AMIA A 24Yi

’ : % s ! VIRt o
(C) ANl opposite sides are equal and O A4 3 Wi &

parallel and opposite angles are (C) AL (a2tdl Arogontl asgiog med 4tz

equal 2 52 G '
1 9 A 2] v i %

(D) Al four sides are equal but only

Y2 AALIAL. Sede o, 4 ,
opposite angles are equal (D) A4 AL A 15 Wiry Ui

[anedl g 2mim %

043. Which QIS is followed for numbering | 043, dufig- g aglia we s Hio4
. ’ hin ’ ’ ) ,
E and letering’ A AL A 57

y» 51 46:20)
(A} BISBF -~ 4612003 (A) BIS 5P - 46:200)

(B) BISSP - 120:2003 (1) BIS SP - 120:2007
(C) BISSP- 456:2003 (C) BISSP - 456:2003
(1) BIS SP - 802003 (D) BISSP = £0:2003

044. Which of the following is not classified | 044, {50 ';'4: uloms (:l'tit'?lﬂ)'tl Us

as a type of dimension” ol 4dlz4 et dl?

(A) Functional (A) {59144

() Non-Afunctional (B) «Alet= 25044 '
. v 2O !

(C)  Auxillary (C) “AlsAlal ,

(D) Ahecrnative (D) Alz2421a
[
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045. Which of the following is not a type of

046,

047.

pictorial drawing?
(A) Rectangular
(B) lsqmcln'c
(C) Oblfquc

(D) Perspective

% is considered as Water Charge

in Rate Anzlysis
(A) 1%

B %
(C) 1U0%

D) 2%%

Which el the following 15 the comrect
wsort of Im long steel bar kavng D

Jrameter in mm?
(A) 1?1122
(B) D?/132
(€) 0 /162

(D) D252

> Which of the following s> the correct

nultiplying factor for Painting Work of,
fully glazed window?

(A) 1.0 forsingle side
(B). 8 or single side
(€) 1.2 for both sides

(D) 0.5 for single side

045, AAAmifl 4 i Fad we
A7

(A) 2524
(B) AN
() wlidls
(D) A

X il aued A
046, 2 Aeilalaani 24 25 wietl e

acpadi A 9.
(A) 1%

(B) 1%%

(Cy. 0%

(D) 2 %%

047, Alsid] 341 424 1 m aiot D (mmi)
vi Al 2204 e a4 gl a54?

(AWDF /122
() D* /132
(c) D* [162

(D) D? /152

048, syl s [aeddl Wi el ue
Al 241 9y (wefhalin 2522)
w4l %57

(A) 1.0 %5 sy 42
(B) 1.5 %Az e ¥
(C) 1.2.504 oty w2

(D) 0.5 A3 sz Hi2

BCD:C|
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049. Expansion Joint is provided in a building
when the length of the masonary wall
exceeds meters.

(A) 65
(B) 40
(C) 55

(D) 10

050. As per IS: 1200, how much accuracy is
required in linear measurement?

(A) 00l m
(B) 0.0l cm
(C) 0.01 mm

(D) 0.1 m

051. How much % of project cost is deposite
from contractor as Security Deposit?

049. sk WAl daadl dow
122 sl 2l 2 e Bl Redag
At UMM #A 8.

(A) 65l

(B) 40l

(C) 554l

(D) 10 ¥

030, 1S:1200 Hws, oilw upgewi 14
Qe wF L 8?

(A) 00l m
®) 0.0l cm

(C) 0.01 mm

(D) 0.1m
0s1. E=iRd] [ils &6 stz wad

Wiwss WAl 2231 ¥ o R WS

-

<X
(A) 1% oy
(a) 1%
(B) 2.5%
(B) 2.5%
(C) 10%
i (© 10%
(D) 3% ) _
(D) 3%
052. Mode of measwrement for brick partition 2. 52 wilsa Fue sd wa w=h
wall s (=2 vz ==332) )
(A) Rumninsmeter iA) =l
(B} Sguere meeer (B) VR W
§03 -Cubac Mietex C G« 8%
Dy Namber Dy =
32y [10} | Comtd—

F
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053, As per IS: 2502 - 1963 additional length
for stirrups steel bar of diameter *d’, hook
at 135 bend equals

(A) d

13) Od

g

(CY) 1R

(D) 24d

054, Task work of & mason for RCC work is

(A) 2.0 M*
(B) 2.5Mm°
(€) 3oMm

(D) 4.0 M

055. In-'which type of surveying the curvature
of carth is taken into consideration?

(A) Plane Surveying
(B) Geodetic Surveying
(C) Hydrographic Surveying

(D) Geological Surveying

56) The branch of surveying in which the
readings are taken in vertical plane is

(A) Plane Table Survey
@_ Levelling
(C) Traversing

(D) None of the above

053, 15:2502 = 1963 Yorop iy o’ o Ay .“
Al oz w2 Al o, 1350 G,

Wi ey o,
(A) d
(1) 9d
(C) - 18d
(D) 24d

054, RCC 51 W2 22+ slonief 2125 45 |

9, |
(A)-2.0 M7
) 2.5m’ ;

() 3.0 M’

(D) 4.0 M°

055, 540 WAL AT y2ellof] Asctied AN
A »uA 97

(A) A y4i2
(B) 201325 i1
(€) erglalys udia

(D) eaurlly umuL

056. AT4GLAl Qv o S5 Ged duadni

damixdHd__ 8.
(A) Q4 2014 ud

(B) dalax

(©) iy

(D) 2uitd] 2As ygt <l

[11]
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0§7. The mirrors are fixed at angle in

Optical Square.
(A) 90°
@ 45°
(C) 30°

(D) 60°

The correction for sag in tape surveying
is always

058.

(A) Subtractive
(B) Additive

(C) Zero

(D) None of these

059. Animaginary line joining zero declination

over the earth's surface is known as

(A) Isogonic Line
(B) Agonic Line

(C) Magnetic Line
(D) Contour

060. Formula for Angle of Deflection by

tangent of curve by Rankine’s method
where ‘R’ is radius of curve and ‘C’ is
chord length.

(A) A=1718.9 (R/C) minutes
(B) A=1817.9 (R/C) minutes
(C) A=1718.9 (C/R) minutes
/

(D) A =1817.9 (C/R) minutes

057, »ilfBsa 2l widlaell Jaal sl
asaai 212 87

(A) 90°
(B) 45°
() 30°
(D) 60°

058. 2u Hovgllui oAld (A21) W2 HurRl éxa
U 8.

(A) 0l
(B)
(C) YU
(D) il 15 vt «dl

059. yedflefl 2wl W gy Wcdldad qadi
Giglld odsdl sieufas ou
adly vilavuu 8.

(A) S [AS 1 (Isogonic Line)
(B) w1lls 1L (Agonic Line)
(C) sl il (Magnetic Line)

(D) A& L (Contour)

060. 1rsi6edell Ukl qrl st ueds QR
Qsdsud 3191 (A) M YA [d4inie
347 odl ‘R" qisell Bt © 244 °C" 2
(6l (Chord) dottsS 9.

(A A =1718.9 (RC) 12
(B) A = 1817.9(RC) 2
(©) A =1718.9 (C/R) Hll2

(D) A = 1817.9 (C/R) ¥ll2

o
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061. The term ‘Contour Interval’

062.

063.

064.

means

(A) Distance of contour from bottom

@ Vertical  distance  between two
adjacent contour lines
distance between - two

(C) Sloping
adjacent contour lines

(D) Horizontal distance between two

adjacent contour lines

The plane at right angle to the plumb line

iskmownas .
(A) Horizontal Plane
(‘l}‘l Vertical Plane

(C) Diagonal Plane

(D) Nogeof these

Granite is an example of
(A) Aqueous Rock

(B) Sedimentary Rock
(C) Metamorphic Rock
(D). Igneous Rock

-—

A first-class brick should have minimum

crushing strength of

(A) 7 N/mm?
(B) 10.5 N/mm?
(C) 12.5 N/mm’

(D) 14 N/mm?

BCD:C |

061, ‘522 He2234” uidl wl

062.

063.

064.

M8

8.

(A) clnd w@eedl 2322 20t vieR

B) o il el il eAdq
Gled »id2

©) o wauEdl wHlA el 9%
Zlona uze i

() ol w2 il A
(aaldor »id2

ilopoll 2l SRVEL 214 dd
AZll il 9.

(A) Bilase a4

(B3) Gl aa

(C) stpildd (sul) aa
(D) »uHidl 215 wat €l

P2 ol o GEw 9,
(A) orelld mes

(B) Aluez2l %15

() w2HilEs v

(D) Al viss

-l 210wl vl
Al 5o 25 Eldl 2L,

(A) 7 N/mm2
() 10.5 N/mm2
(©) 12,5 N/mm’

(D) 14 N/mm’

e

[ P.T.O.




BCD:C)

065. In a kiln, the brick should be burnt at

temperature from

(A) 300° Cto500°C
(B) 500° Cto700° C
(C) 700° Cto 1000° C

(D) 1000° C 10 1200° C

. For RCC construction, the maximum
size of coarse aggregate is limited to

(A) 10 mm
(B) 1Smm

(C) 20 mm

(D) 25 mm

. Slump Test of concrete is used to measure
its

(A) Consistency
(B) Tensile strength

(C) Impact Value

( P)_ Homogeneity

068. Soundness of Cement is tested by

(A) Air permeability method
(E)_ Le-Chatelier method
(C) Vicat’s apparatus

(D) All of these

065, o (Kiln), 924

~ flaveud
ol (Burnt) PG,

(A) 300° Cto 500° C

(B) 500° Cto 700° C

(C) 700° C to 1000° C

(D) 1000° C 1o 1200° C

066. RCC ofi4s1d ‘{lé. Coarse aggregatce

(31 aA4312) Aiead HerH 52 (U152)
Yl Hullza 5.

(A) 10 {4l
(B) 15 ¥4l
(€) 20 {1
(D) 25 il

067. silz241 243y 23241 GUUIAL Al

CVETRITER DR

(A) Consistency 54{l224 (@'&%ddl)
(B) Tensile strength 24154 %5;5’4
(C) Impact Value 352 424

(D) Homogeneity 75{33‘4(11

068. [Ar2dl G¢Ax (Soundness) e

121 ASIHAAML 214 9.
(A) 22 yzlluefldlZ] Has
(B) dl-a2[4u2 Hus
(C) [k #4224

(D) “iHidi o141 o/

[14]
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069. Gnatt Bar Chart is used tq show .,

069. Gnatt (42) mE 2ube; Gwiin
A Y2 414 59, -

———

(A) Progress v/s Time
(A) 514 uald v/s uuy
(B) Activity v/s Time
(B) Uil v/s «4uy
§ (C) Activity v/s Resources R
5 (C) U3l v/s siziel

aress v/s Resources I a4
{DXONogress vis Reso (D) 514 2l v/s el

070. For excavation of domestic pipeline | 070. 424 WM Al WIZ5H U2, 54 Al%eA
work, which equipment is convenient for AL HE T4 Az 57

use?
(A) Ho¢ (A) szl (£1) |

(B) Power Shovel (B) W3- 4144

(C) Dragline (C) sl
—
(D) None of these (D) »iuidl s wst 4]

071. Which of these is not a type of Deep| 071. =il z4l Zat yral ({hy 51523 ) o)

Foundation? ‘ sz A4l7?

{A) Raft Foundation ' (A) 2zl .

(B) Pile Foundation (B) i (viz)
N 3 (C) Pier Foundation (€) Ml

(D) Caisson (D) Caisson 13id

072,°A system providing temporary support | 072. o) Al Zladid sEAS 2510 sigd]

to the walls of two buildings where the Besnt sl 22UAAL FHEAA Gdlﬂ:p
intermediate building is to be pulled 3;17.(1 ofi4aedl €14 dd 56314 59,

down and re-built is called ) N
(A) LUk
(A) Racking Shore \
(B) ¢ »udl 9354 Uk
(B) Dead or Vertical Shore

i wra Bl 4R
(C) Flying or Horizontal Shore (C) AW
(D) 2l #A5 W&l “él

| ———
[PT.Q
BCD:C | [15] A

(D) None of these

= A -




073. The junction between flange and web of | 73, 224 ofludl yﬁ{w e 0| AL 0?['.\\;[-]

jpuel beam is known as _ o~ ol il s 9,
(A) Lap Joimt (A) Lap Joint 44 «idl .
VR Datnletg (B) Butt Joint »42 it

(C) FilleSbimt (C) Fillet Joint (42 it
(10)7)8hear Joint () Shear Joint Hluz 4itil

074. The most commonly psed setting time | 074, (auezsi 0l 39 Sudian 4l 429

retard is : (s 3 4
récrmmcementis 2 foois (a21zat uz) 9.

A) Gy

(A) Gypsum (A) frzem

(B) Calcium Carbonate (B) londu sidiaz

(C) Calcium Chlonide (Cy Yy Zinr,
- N (L1 34

(D) Sodium Chlonde (D) =afgm vdpers

075. The soil ramsponied by running waier'is 075, 3¢t well e ‘Ufacq wEd] wila
called RN N
N AW A1 5.

- l" > . L
(A) Collyvial (A) Collavizl s1z=4dluy

(B) Auoline (B) Auoline A4l

. P ; S e
(C) Residuz] : (C) Residuzl 247444
(D) Allsvial (D) Alluvial #Az3dl44
076. The rztio of total volume of voids 1o the | 076, Wit oiit Wil AL (Voids)
volume of soil solids of givensoil mass is g4 ool (M) A4 U nZ il
kownas . M o (20 il dleg) A 25T
22 1%

. AZls Al 7.
(A) Porosity

(A) Bz

(B) Dry density
(B) Dry density 45 4l
B\ Fond ratio (©) Void ratio 4l Yl
0 {D) Permeability (D). Permeability 2134l
- BopC [16] [ Contd...
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077. As per IS Classification silt particle size

078.

079.

080.

15

(A) 0425 -2mm

(B) 0.075-0.425 mm
(C) 0.002<0.075 mm
@ Less than 0.002 mm
15 more

Which roller suitzble for

compaction of cohesive soil?
(A) Smooth surface roller
(B) Sheep footed roller
(C)\Pneumatic tyred roller

(D) None of these

Which of the following pairs is false?
(A) Maisture content — Calcium carbide
migthod

(B)"\Dry density - Core cuttez-mathod
(C) Shear strength - Standard Proctor
test
(D) Specific

method

gravity -

Pycnometer

Ideal{stte for conmstruction of bhdge
should have

(A) Narrow river sectipn, well defined
banks and no cross-current

(B) Banks are high and strong as well as
permanent

(C)-Alignment of bridge is possible to
the right angle of nver

(D) All of the above

077.

078.

079.

080.

1S a{ls2an oo siuet (Faez) 56 %
9.

(A) 0.425 - 2 {1l

(B) 0.075 - 0.425 il
(C) 0.002 - 0.075 ¥l
(D) 0.002 ¥l Al »iiz]

G (stedla) widlar 50 (22)
Uz o 219 Y U 57

(A) =l 2n0fl 242

(B) #zidl 4 22

(C) avsgsa [~43dls) zeea] 21

(D) #AEiE)l iy uet 4

il 55 24l vidl 37

(A) o ue (M 222) - slzaam

siolss Wl
(B) %2 (g4) adt - 512 222 wzln
(©) i Zen - z2ieed iz 222

(D) (RG> adt- Fusdiilzs wz4

YAl o5 HE Wiz 3

£l o=,

(A) A gkl mie, 1]l A vy
(et 2id qHA AL 24] €11

(B) [zt Gt w4a #ovojd axer sid]
€l

(©) yad @uel (Ra4l2) g
SI2MEL U €1y

(D) Al o4l o

BCD:C|
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081. Which is not considered as a part of sub-
structure of bridge?

(A) Abutment
(B) Wing Wall
(C) Parapet wall

(D) Pier

082. The rise in water level due to obstruction
by construction of pier is known as

(A) Free Board
(B) Afflux
Ad \X

(C) Scouring

(D) High Flood Level

083. Which of these is not considered as a part
of bridge?

Caisson

@ Cofferdam
(C) Pier

(D) Pile

084. Underpinning is used for
(A)_Repairs of pier due to scouring
(B) Repairs of bearing due to rusting
(C) Repairs of superstructure for cracks

(D) Repairs of bridge flooring by wear
and tear

081. AlAAinitll A4 [oasrdl Aot-22542dl ML
U4l 1Adl 44l ?
(A) oAl
By (221 44
(C) Wiz ald

(D) [yoiz

082. uita (o2 Pier)dl oiasiudi 4lil

MAUHA 51261 AZldl Wl 2qzui a4
ddb il 9.

(A) dlonf

(B) »lzan

(€) 2513l (vawt)
(D) €15 $$ dad

083. 2(idl sul [slovedl @1 MM 2414l

4|7
(A) 3l
(B) sls3u
(©)
(D) vi2
084, QML Gualr Wi wu 8.

(A) QL (zs1ad1) ol uioan (Jer)d
AURSIH

(B) 312 4l SREL AR AHRSM
(©) [l 32 Jwzssurd uHRs™

(0) faovel iR aRl SREL
UURS N

BCD:C)
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VU ' au example of rigid Pavemeny

(A) Bituminous Roaq

(B) Gravel Road

086.

087.

088.

(C) Cement Concrete Road
-

(D) WBM Road

In CBR test for 2.5 mm penetrafion. the

value of standard load 1s

A KN

(PN

(A 1
(B) 20.16 KN
(C)-7:5KN

(D) 10.08 KN

Ring and Ball Test\for bitumen is used to
find

(A)~Seftening Point
{B) Specific Gravity

(C) Ductility

(D) Viscosity

Which of the following is not copsidered

& a defect of Rigid Pavement?
(A) Mud Pumping

1 g

(B) Scaling

(C) Waves and Corrugation

(D) Shrinkage crack

(B) [a. it (Specific Gravity)
(©) &A€E (Ductility)

(D). B34 (Viscosity)

vl D At 2iadl 442
(A) Hs w2

(B) S

(C) A= ¥ sialud

(D) @it 35 ( fArs)

- -— 3 Ty =’ h > = -
087. [523a HE 1 = ol 23241 Sudiy
SH3 HE W
(A) =iz2[431 Y2 (Softening Point )

088. il s 55R (Rpe) Wgdead)

WU AL O




089. Which of the following is not considered
a reason for Mud Pumping?

L/\l Excessjve deflection of slab
(B) Clay in sub-grade

(C) Excessive free-water in sub-grade

@ Excessive axle load

089, «[lA4midl 5§ ug WPWI 5RQ1 Hiew
wiad «4l?
(A) 2dotd wilran B4d ((dsad)
(B) ordisHi wil
(©) det-AsHi Ml Ysa el umig

(D) @laau »15:44 dis

090. Reflection cracking is formed in which [ 090, flA4miell sut sl A Uniery
type of the following types of road Redlsaud 35101 21U 97
mvmfs:’ q
(A) Llbuoty Ygile2
(AL Flexible pavement ) & "
Y &S ’ ) '_'
(B) Rigid pavement @) Rrs Uil
(C) Bituminous overlay on  cement (©) B2 sidl2 4s w F":"i(”'f‘-i"i
concrete road wil42ddy
(D) Cement concrete overlay on (D) zyfda A5 W Giites sils2ei
Bituminous road wllarely
091. In AutoCAD, which of the following is | 091. AutoCAD Ui, ALl s ues « el
the full form of UCS? . " T
AP (g & - full form) 597
(A) User Coordinate Syst
¥ (A) 4o S1-04A2 2llzen
(B) Universal Coordinate Svste
(B) rsal Coordinate System (B) ‘jr'l'%ikl D=0 2w
C) Uni 2 in: stle S
(C) Unique Coordinate System (©) 4y S1-»0dM2 wdleau
092. The Command DVIEW in AUTOCAD | 092. AutoCAD ¥i DVIEW 224 (s¥is) €4
PRETTELS r oAl wRawdfl 2l 87
A) A selected porti { the drawing i s aay s
\ e’ S b (A) [RAdar QiR wie s34 @l
detail
(B) A perspective of the drawing (B) 151l oz (uzu[{aq\
(C). The entire screen on the monitor (©) Hif22 w3 vl 2514
(D) A damaged part of the drawing (D) ¥l &lqaza @t
BCD:C [20] | Contd...



093. In  AutoCAD, the i1s the
command used to draw multiple copies of

an object in a particular pattern or order.
-(A) MODIFY

(B) OFFSET

(C) ARRAY

(D) FILLET

094. The

used to create slanted edges.

command in AutoCAD is

(A) STRETCH
(B) "TRIM
(C) EXTEND

(D) CHAMFER

095. WhichUISO is used to refer gérferal

prieiples of graphical representation in

Fechnical Drawing?
(A) ISO 458
(B) [SO 800

(C) ISO 128

(D) ISO 108

096. 1SO means?
(A) Indian Space Organization
(B) Intemational Space Organization

(C) Intermational  Organization: ' * for

Standardization

(D) Indian Standard Organization

093. AutoCAD Mi,  u Alwy 1od
vl sul vl oA dsy)
(wefluy shd) £Ral HE Al w12y
(sHis) 9.

(A) MODIFY il¢514
(B) OFFSET 2{ls12
(C) ARRAY 2

(D) FILLET (332

094. AuoCAD Wi gy (suis) «i)
GUUL el (seudlas) (slanted edges)
AAAAL W2 1Y 49,

(A) STRETCH %32
(B) TRIM 2y
(€) EXTEND »ls23,

(D) CHAMFER 237

095. 2554 S5 ulysy WB(0lldsA|
(eaidldl sizel wyy
GuMlL Ui 97

UM ley
AL W2 sUL 1SO-)
(A) 1SO 458
(B) 1SO 800
(C) 1SO 128

(D) 1SO 108

096. 1SO 1247
(A) edlad 203 5 Aoq
(B) “r22dudd 2034 w5l dud

(C) #w2zdud4

ae AP
22esslAud

sofdridad gy

(D) #edldd 221058 A AU

BCD:C | [21]
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097. Which statement 1§ WIong for First Angle

Projection method?
{A) Front View is in Centre
(B) Top View s below the Front View

{C) Botom View is on upper side of
Fromt View

Q Left Side View is on Left Side of
Front View
99s. ‘-T-*Thzs symbol is used for
{A) Cross Road
(B) Swasnk
(C) Ceiling Fan -

(D) Two-way Slab

099. @ Symbol stands for ’
(A) Sewage Line
poos-
(B) Tor Steel

(C) Manhole

(D) None of the above

097. 535 »PIA WS4 Weald w5 [t
wiZ 87

(A) §2 2w
(B) a4, §2 Ayl A
(©) oli2n <y §2 Al SRl cusy
(D) Stell ooyl 24, §2 24efl stell e
098, ——witndledl Gude s,
(A) s A
(B) =l
(C) Rl &4
(D) 24
099. @ AU UASAL Gl W s,
(A) ¥Yuloy i
(B) 2R ¥l
(C) ¥4 ¢l

(D) 2uidl 25wyl

BCD:C | [2

2

] [ Contd...



100. Hardest pencil is grade ‘and | 100. Al 2t U Atell 13 e

softest pencil is _______ grade. Afl uUfa el B,
(A) H.B (A) H,B

(B) 4H.4B (B) 4H, 4B

(C) 9H,9B (C) 9H, 9B

(D) 7H.7B (D) 7H, 7B

(=
o/
T VT Rk T on B Son T i
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